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HEd i @ IRENT Qd gU AFd {Id dl YSfd @l
91 |

Giving the definition of human geography explain the nature of
human geography.

UG i &1 AFHISROT SR AT BT YTHAIBRIT S GHSY |

Explain humanization of nature and naturalization of man.

firfther SoR gRT UK @1 I3 FAaeaddrs Aheul I ATEAT
DI |

Explain the concept of Neodeterminism introduced by Griffith
Taylor.

A Id & fawa &3 &1 qui| Iy |

Describe the subject area of human geography.

AMd Ylid & I DI dF T9d f[EROREI &1 9uib
IS |

Describe three new ideologies of study of human geography.

“g@fa dm A9 AfqHST 9@ BId 217 39 U @I gfe
I |

Nature and humans are inseparable elements confirm this

statements.
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s faR 4 999 Pid 1 o9 A fERaRT 999 {na
@ fAug &3 &1 Uve] Sl 2?7 (S JadicAd Aeqd_ U¥qd
R |

In your opinion, which ideology of human geography nourishes the

subject area of human subject's and present a comparative study?

“gHfd dAT AFE UH—gER ¥ Gfeeddr ydd A g¢ 2 |7 39
U Bl R @A @ fay & AaEd geal @ srawamar
82 W S|

"Nature and humans are intricately intertwined." What human

values are needed to maintain this statement? Explain.
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Y.h.

Y.h. 10.

YU.sh. 11.

Y.sh. 12.

Y.sh. 13.

Y.sh. 14.

Y.sh. 15.

Y.sh. 16.

9.

10

11

12

13

14

15

16

g srawEr & Reafa & dar eed 27

What is the condition of rapid population called?
fava ¥ walftre fergua fea <o & 22
Which country has the highest sex ratio in the world?

fasa 9 w99 3AfSred YT X dTelT QI HIF AT 27

Which country has the highest fertility rate in the world?

fasa 4 9T @ R 9 IRd &1 H Bi9 9T 872

What is the place of India in terms of population in the world?
A4 Ao gadie T 87

What is Human Development Index?

=1 ATMe adie Y drd dig <l ]2 @AM feafag |
Name any two countries having low Human Index value.
feiiT—3rura &1 31ef 9arsy |

Give the meaning of sex ratio.

sriefier g fad ded 27

What is the working population?
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U.sh. 17.

Y.sh. 18.

YU.h. 19.

Y., 20.

YU.h. 21.

Y., 22.

Y., 23.

U.sh. 24.

U.sh. 25.

17

18

19

20

21

22

23

24

25

SaEn gfg /uRads &4 sed =7

e
=

p
.

What is population growth/change?

15 ¥ 59 3T T D TIAEAT BT FT Hed 37

What is the population of the age group of 15 to 59 called?

AN WX Bl fhaa avf ¥ §fer wr 272

Into how many categories is the age structure divided?

S T 9 3MTY 9T qHsd B o

What do you understand by birth rate?
Q] S ¥ AT T A3 o 2

What do you understand by mortality rate?

A4 fab™ Adheur &e IR fead ywga fear?

When and who presented the concept of human development?

S 4 More d faza & e s fFarmxa 22 ufoea
¥ forRay |

In which hemisphere does most of the world's population live? Write

in percentage.

A4 fae™ gadie 1 gfiiure wdyem feaq fHar?

Who first presented the human development Index?

Ad fddrd gadie &1 yfdures aRa 4 qduer feaq f&ar?

Who was the first to formulate human development index in India? -é:ﬁ
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9. 26. M4 &1 fasra ST Mardg A feaa @i & wen fasfia

YU.sh. 27.

Y.sh. 28.

Y., 29.

Y.sh. 30.

U.sh. 31.

Y.sh. 32.

28

29

30

31

32

—
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g
.

gaI?

At how many latitudes in the Northern Hemisphere did humans

evolve?
fava ¥ e &9 famgua fea <o # 82

Which country has lowest sex ratio in the world?

TG UG e A Ada¥ e g | (B8 o)

Explain the difference between birth rate and death rate. (Any
three)

ST fqaRor &l yaifad &) drel s 9 dRd folRgy |

Write any three factors affecting population distribution.

A4 fae™ & 9q@ wWHl & 9oi9 difog | (@18 dF)

SN

Describe the main pillars of human development. (Any three)

SFEET O9d 9 3MU T JHsd B2 SNl O9cd BT A

ferfay |

What do you understand by population density? Write the formula

for population density.

yard | &7 A3 22 Y9 fhdd YeR & BId B °

What is meant by migration? How many types of migration there?



U.%h. 33. YA &l YHIAT B dTdd dRPI BT qui<l DIfog | (H1g 3)
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Describe the factors affecting migration. (Any 3)

Y.h. 34. Yqr9 T 2? 9919 fhda YdR &1 eidr 27

What is migration? How many types of migration are there?

9. 35. faaa &) fawda @ ®BIc Y—¥9NT W 3@ Sad@r o §s
H—HFT R &F GGl UTg ordl 8, Fa1?

Think about why more population is found in smaller areas of the o

world and less population in larger areas?

Y.sh. 36. AMUH AR | SHIfhDIT AHH0T B did Al rawen JTaaE=m
@ Igdmd Reafa &1 gerfdy 272

In your opinion which stage of the demographic transition reflects

the favorable condition of the population?

o=
L)

9. 37. SHIfG®I AHAT Rigid & <9 IEwRmel &1 9vi9 &3d §Y
e Sar=Ar SIfey |

Give a pictorial explanation describing the three stages of the

demographic transition theory.

Y.h. 38. SMEET gig & 3AMRfe tad e dRSBI &1 9vi S|

-+
Describe the economic and social factors of population growth. 2



Y.sh.

YU.sh. 40.

YU.h. 41.

YU.sh. 42.

Y.sh. 43.

U.sh. 44.

39

40

41

42

43

44

A9a A JqERemT & Ada GHAT AN gad giuvigar |
AT T qHsTd 2 °

What do you understand by equity and sustainability under the

concept of human development?

IR—fe Rafis @« ysRfa fear smar 282 yef@ra s
W DY |

Explain by drawing a diagram. What is shown by the age-sex

pyramid?

ATEARAT Bl YAMAd B dTed dRPBI BT dui9 DIfore | (H1s
qr)

Describe the factors affecting literacy. (Any five)

99 faerg 9 1 drcgd 22 "9 fdera © WHl $1 A
DI |

What is meant by human development? Explain the pillars of

human development.

IV SFERIT BT RI bl AR YA & BRUT Dl W
PIY | (P Ula)

Explain the reasons for migration of rural population towards cities.
(Any five)

favd ¥ wfxamet & fowmgua gfiga g & HIg ufa sROT
qaTSq |

Give any five reasons for the unfavorable sex ratio of women in the

world.
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9.. 45. ReR S& iR gFra9H S-E&T 9 JFa¥ Ja1z¢ | (Hig Uia)
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Differentiate between a fixed population and a diminishing

population. (Any five)
Y.h. 46. GGl & UTHT — TN Ggcd &I 9ui- Sifoiv |

Describe the rural-urban composition of the population.

Ush. 47. T SHGIT & faawor 3diR g9cd &l yaifad &1 ¥ Aifas
dRPI B qAST ds@yel sidl 27 Afe 31 I yg™ wHifas
4 HRBI B ARAT B T BN | °

Do physical factor play an important role in influencing the
distribution and density of population? If yes then explain the major

physical factor. Please clarify.
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3fT o Sca¥iI 93 (Very Short Answers Questions) =—

@A Y W 1 b FEflRa 21)

(Each question carries 1 mark.)

9.5. 48. UTIfi® fpad fed wed 27
What are primary activities called?

3p. 49. G fpd Ped 2?

What is mining called?
. 50. & BIFTT Y fed Haa 87
What is Truck Farming Agriculture?
. 51. RS »U IdT 87

How is chewing gum made?

3p. 52. Sl BT HeINT fhd Hed 27

What is called rust bowl?

. ol iR & a1 arcad 27?

What is meant by red collar?

h. 54. U9 {hATHIT A T ATIT 27

What is meant by the fifth activity?
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Y.sh. 55.

Y.sh. 56.

Y., 57.

Y.sh. 58.

Y.h. 59.

Y.sh. 60.

Y., 61.

U.sh. 62.

Y.sh. 63.

Y.sh. 64.

55

56

57

58

59

60

61

62

63

64

gienfial ga fed ssd 27

Who is the technology pole?
AIgeR W 9 947 I 27
What is meant by cyber space?
ATreT (NAFTA) @1 87

What is NAFTA?

ATFST (SAFTA) FIT 27

What is SAFTA?

fafamfor @ @ 3y 22

What is meant by manufacturing?
7o & ®er mar 87

Which is called a highway?
SITUT &1 Scic &g I8 HI T Idl 872

Which city is called Detroit of Japan?
Aol v1sg @1 AT BT |

Explain the word salary.

Aad AR q AT I 872

What is meant by free trade?
OPEC 3NU® & J&ATAT BBl 27

Where is the headquarters of OPEC?
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. AR (ASEAN) &T J&ATAd HEl 27

N
Where is the headquarters of ASEAN? -~
3P. 66. I ATSIRIT Y9 HEl $1 Sfas ¥@r 27
Where is the lifeline of the Trans-Siberian Rail line?
h. 67. “WHO” &I ullfeqa 3ref ferfReg?
Write the literal meaning of “WHO"?
. 68. Wl T8} P ffvr e gar? °

When was the Suez Canal built?

. 69. frspdor yfhar f&a wzd 27

What is the extraction process called?

. 70. fae9 $T G99 IAaq FHST A9 BT AT 2?2

Which is the busiest sea route in the world?

. 71. B ® Gl s @ Y dardt 27?

Which agriculture is called floriculture?

. 72. ATIRHA ST fHd ST $H FEd 27

Which industry is called basic industry?

3p. 73. A &g Se=niwm @ fov ufug 27

. 74. S q T AU 2?

Manchester is famous for which industry?

What is meant by agriculture?

13
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Y.sh. 75.

YU.sh. 76.

Y. 77.

Y.sh. 78.

Y.h. 79.

Y.sh. 80.

Y.sh. 81.

U.sh. 82.

Y.sh. 83.

75

76

77

78

79

80

81

82

83

IJrEe Uqd Aied AU foda fpar owog & 3iasia 3mdar 87

Hunting and food gathering comes under which activity?
S 3reTRa dis 2 SE & 9 fafay |

Write the names of any 2 agriculture based industries.

AT AEmRT dIs < S & A forlRay |

Write the names of any two chemical based industries.

a1 remRa S & A9 forRau |

Write the names of forest based industries.
q3] ARG S & 19 fefey |

Write the names of animal based industries.

we} 3tenfire g<er feoa 331 & Reg 27

In which country is the Ruhr Industrial Region located?
crarer sul fea Qo # Rera 27

In which country is Toyota Company located?

TR HAR ek U T A 87

What is meant by the word telecommunication?

I%q, faf W ogazenm | 3y T @S 27

What do you understand by commodity regulation system?
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Y.h.

Y.sh. 85.

Y.sh. 86.

Y.sh. 87.

Y.sh. 88.

Y.sh. 89.

Y.sh. 90.

U.sh. 91.

84

85

86

87

88

89

90

91

‘i:‘-n.
.

@ fed dEd 872 @99 3 faftrar &1 avfs Sifag |

What is mining called? Describe the methods of mining.

BHTHY AR 3N Ad AR B Gy |

Explain retail trade and wholesale trade. °

Shasiureiy Y @ Jfavia sia—aia d Y s 287

Which agriculture comes under livelihood agriculture?

yTfie gaqar @ IJdiid A dra fe8l N9 gaarg &1 9viq
I |

Describe any three occupations that come under primary business.

ST BIffT v Imgfie e 2| W sifg |

Dairy farming is a modern business. Explain.

IRagd @ Al & J8d fafEag | (@18 <F)
Write the importance of means of transport. (Any three)

AT gienfirer | 3y & ausd 2

What do you understand by Information Technology?
ATSeR W ge¥AC &I Hew forRay |

Write the importance of cyber space internet. -é:ﬁ ,

15
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Y.sh. 92.

Y.sh. 93.

YU.h. 94.

Y.h. 95.

Y.h. 96.

Y.h. 97.

Y.sh. 98.

U.sh. 99.

92

93

94

95

96

97

98

99

RIS AR & AR S FASISY | (HIs )

e
=

p
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Explain the basis of international trade. (Any three)

SYHTFIT ST 4 /T dregd 87 Serevvl dfed aHvsnsy |

What is meant by consumer industry? Explain with example.
graIfie vd fgdiae wfafafiry 9 @18 di9 ofar sase |

State any three differences between primary and secondary

activities. o

IR 3R ag ST § Aa¥ qa1sy | (@IF o)

Write the difference of cottage and small scale indusiry. (Any three)
IR Isft Y T g & @i @ Faf o) oy 2
Why is market vegetable farming done near urban areas?

g¥¢ @ ol ara Sen T @ Fn arcad 2| wuse Hifg |

What is meant by smoke chimney industry? Explain.

URTEETNT YEET 9 39 91 gusid 22

What do you understand by transcontinental railway?
arad e e afs sf 7 d9 faeivarest 1 quia sty |

Describe three characteristics of rice-based intensive subsistence

agriculture.

9.5h. 100.f3%a &1 Iaaq G 99 BT 2 R FA?

Which is the busiest sea route in the world and why? i
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9.s. 101.f=fafaa w® fewofi faRed —
(1) S=a vtenfia ST (2) fafermfor
(3) @B ST

e
=

p
.

Write comments on the following:-
(1) High technology industry (2) Manufacturing
(3) Independent industry

U.sh. 102.9ddl, TOICl dAT di¢ GHIMfAd YN A rd ufRdgd &l

FAT—FIT GHEIT 2?2

Q

What are the problems of land transport in mountains, deserts and

flood prone areas?
U.sh. 103.5TcT URds |4 T It 87 (PIg 3)

What are the benefits of water transportation? (Any 3)

U.sh. 104.” DY BIfexT’ YHT UR U Gferg feweft fofRew |

Write a short note on “Cape Kahira” Railway.

Y.sh. 105.3MMRTUe Ty YW 1R U fewofl forRau |

Write a note on Orient Express Railway.

9. 106.dAfSI iRIfPd Yourt R ve fewofl forlRay |

Write a note on Canadian Pacific Railway.

U.5h. 107.3FORISETI ATUR 9 23 o9 o UTd HRd o 2

How do countries benefit from international trade?

9.5h. 108.fd%a SATUR €IS & AT S ST 87

What are the basic functions of the World Trade Organization?

17
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9.%h. 109.K0MHG HIAE dAdgad &I g1 f&ft o & faw <=

—
=

g
.

MRS shar 87
Why is it harmful for a country to have a negative balance of
payments?
9.%. 110.3mara 9 frafa o siax fafReyg |
Write the difference between import and export.
9. 111.¥aaRa & &1 wfasy sreer 78 2| fadgm sy
The future of shifting agriculture is not good. Do the attitude. o

9. 112 fawga 9 w® ST SN @1 faerw @ & GEEl vd
yfiasl @ faer & dr< € WHd 8 b1 412

Why was the development of dairy forming possible on a large
scale only after the development of means of transport and

refrigeration?

Y. 113.3¥HaR I H Sz grenfial S=nvr yq@ Fe Rl & aRfY
g7l 4 g @l fefia 8 @ 87 A i |

Why in most countries are high technology industries developing

only in the peripheral areas of major metropolitan cities? Explain.

Y., 114. T ®EX 87 BT Ja ST fABR &) JAQERYT & UH Y@
3T 2?7 e GRAT BN |

Explain clearly whether ruhar region is an important part of the

conceprt of development.

18
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9.%h. 115 ATFIART BfY {64 $sd 2?7 sHd &l &l faRay |

What is called shifted agriculture? Write its characteristics.

9., 116.99T 18X U4 Wl A% d oAl dIfog | (HIg dra)

Y.b.

Compare the Panama Canal and the Suez Canal. (Any five) o

117. 999 -8¥  AUIR® Hgd &l Gfad gdisy |

Explain the commercial importance of the Suez Canal.

Y.%. 118. ATl UMEARY IR dIfOST uee dred d 3fax ferley |

Y.h.

(@13 dTa)

Differentiate between nomadic pastoralism and commercial
livestock rearing. (Any five)

119996 AR & fb-el 9ia ATl BT 9uid HIfoTg |

Y.sh.

Describe any five means of mass communication.

120.SENTT & WITHI—IDBIUT & DRI BT doI- BTy |

Y.sh.

Describe the factors of localization of industries.

121.G13MRBT & A8M@EN &1 Sod g9cd YAl oidl 2 | DRl

qarsC | (IS =)

The U.S.A. has a high density of highways. Give reason. (Any five)

u.sh. 122 fa%q & yq@ AFgfed At &1 Al qufq iy o

Briefly describe the major sea routes of the world.

19
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.. 123.cTaarsa R Y@t &1 grsafRar &) ShiaREr $er orar 2 |

Y.sh.

I? afa 9usnsv |

The Transsiberian Rail line is called the lifeline of Siberia. Why?
Explain illustrated.

12494 59 YR AUR @& fod 98—e 8Id 82 Ul &l

TIffevor Saa) afRerfa @ MR R iy |

How are ports helpful for trade? Classify the ports on the basis of
their location.

Y. 12594cT 4 1 drcdd 2?7 wded $l yqHE fagvae den wied

P ATHT g gHAIId S ald = dRSI ST Ui SIS |

What is meant by tourism? Describe the main features of tourism
and the main factors that attract and influence tourism.

9.h. 126 GR A Yaferd uor &Y &1 &g ura fagiwamen &1 quiq

DI |

Describe any five characteristics of plantation agriculture prevalent
in the world.

9., 127.7@ & &1 T 2f 87 I' Bl @ Wl B? TSl U@

fagiaan forfRay |

What is meant by mixed farming? Where is this done? Write their
main characteristics.

Y.5h. 128.3TER H{d ST 3R IUAIFIT 9K, ST H AR W BIFY |

Explain the difference between basic industry and consumer goods
industry.

9.3h. 129.71g ST dAT g8 UHM & el 4 fax faRay |

Write the difference between small scale industry and large scale

industry.
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9., 1303Mefa e fasma & dar Adey @1 aefear iy gfg #
74l DI | ‘ \

Discuss the significance and growth of service sector in modern

economic development.

9.%. 131.9Ra8d 3R FaR darRl 1 Arfea 1 @R qde ww
I |

Explain in detail the significance of transport and communication

services.

Y. 13294910 T 27 A9 @ faftr=1 i &1 989 § qufq sifae | o

' What are the services? Briefly describe the different categories of
services.

Y.%h. 133.991T -8} R Ofaa fewofy fafRau |

Write a pictorial note on the Panama Canal.

9. 134.7F @R fawga aran ity (@18 1) —

Explain in detail after looking at the picture (Any 1) -

ol g} UTHT A8}

e ——
e
= ] =t
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TPIE — 4 M

o] Sca¥I¥ Y% (Short Answers Questions) :

(UAPH 93 W 3 3d MgiRa 21 ScR &1 s AT 50 3eql ad 2 1)

(Each question carries 3 marks. The word limit of the answer is 50 words.)
9.%. 135.fed ¢ yfawy &1 ygaE & W v49 I fawivag fafay —

Identify the given pattern and write its name and two °

characteristics.

.. 136.3%d yfawy &1 R 9916} g1 fagivane fafRau |

Draw a diagram of a linear model and write two features.

Y.sh. 137.9RT AMHR Yfawey & N9 fagivand forRay |

Write three characteristics of star shape pattern.

9.%. 138.dIRFAT Ufawy I&il &1 Adifhd = 916X |9ssy |

Explain by making a labeled diagram of an arrow-shaped model
settlement.

Y.sh. 139.¢1 MpR gfawa &1 K9 fagivad falRkau |

Write three characteristics of the T shape model.

9.5p. 140. TR 9&il &1 FEffbvor By | e
= 4

Classify the urban settlement.

22



9. 141. 9T g&iT 31 yq@ faeivan fafey |
Write the main features of rural settlement.

9.%. 1421 fau 10 o & S@HY YT & Swk dfog—
(1) s I gt gfaea &1 9™ faRayg |
(2) s yfowy @t < fallierard fafeag |

Look at the picture given below and answer the questions:-
(1) Write the name of this rural settlement pattern.

(2) Write two characteristics of this model.

9.%. 1431 faU v o7 &1 <@HR yHl & SR dfg—
(1) s grfior ol ufoea &1 a1 faRay |
(2) ¥ yfoeu waf fied 27
(3) 39 gfired &1 e fagivard fofag|

N

Look at the picture given below and answer the questions:-
(1) Write the name of this rural settlement pattern.
(2) Where are such patterns found?

(3) Write one characteristic of this model.

rr—]r'—]gﬂl—lr‘l
qu J J 7

9
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9.%. 1441 fav 17 7 &1 I@aR 9ol & Sar Sfg—
(1) s arfior o=t ufoea &1 a1 faRay |
(2) 9 ufoeu ®af fed 27
(3) =9 gfawy @1 T fagivand fafeEy |

Look at the picture given below and answer the questions:-
(1) Write the name of this rural settlement pattern.
(2) Where are such patterns found?

(3) Write one characteristic of this model.
> \y
| . ‘-
-
v A 3 e N N
C AA\\%TG

9. 1451 fdU 17 o7 &1 <@H yHEl & Sa) dIfg—
(1) sa grfior ot ufoea &1 a1 falRay |
(2) ¥ yfoeu waf fiea 27
(3) ¥4 gfired &1 e fagivard fofag|

)
:) Look at the picture given below and answer the questions:-
(1) Write the name of this rural settlement pattern.
(2) Where are such patterns found?

(3) Write one characteristic of this model.
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""Jh, U.b. 146. 9THIUT IRTAT &l AM@fd & AR @R fhad wrm § fawrfea
fear wrar 87

In how many parts are the rural settlements divided on the basis of

shape?

U.5h. 147.3<1 JEIET HT 22 59 AT U Yb13 Siferv |

What is ADIS Ababa? Throw light on its planning.

.. 148.9TI0T IRTAT &1 JaRefd &1 yuIfad &1 91 RS HIF 4
27

What are the factors affecting the location of rural settlements?




AT B

9.%. 149. fava & orlifae fmer safaa 9 ey 1w fafafea
fegal @ ugaifiy den S9e AW uHl Sk YRdaer H
ferfearg |
(A) ta AR
(B) b ARSI &als 3rgST
(C) t& dsT d5¥e
(D) g1 wArsdRIT Yawrt &1 sifaw weI=
() <féror aMR®T &1 U w19 &1 A5

In the given political outline map of the world, identify the following
points and write their names in your answer copy:-

(A) One Megacity

(B) One International Airport

(C) One Maijor Sea Port

(D) The Last Station Of The Trans-Siberian Railway

(E) Grassland in South America




o - gfie qift@ faeneff R oget F At e Ry T s
SRR WM W) S8 yRify fvivaet & te—vs g e

Y I 1
[
l.i ol

Visually impaired students will write 1-1 point of speciality of those

places in the map-making questions.

9. 150. fawa & worfifae dweRrR @tz § gery v f=falaa
fegal @1 ugaify 9o S99 AM Ul SaRk gRaer §
ferfearg |
(A) & AR
(B) TP AT gaTg 3AssT 2
(C) t& ¥sT d5¥e
(D) & 9@ -Tal
(E) SR FIRST T Td Yq@ °1F ST HTH

In the given political outline map of the world, identify the following
points and write their names in your answer copy:-

(A) One Megacity (B) One International Airport

(C) One Maijor Sea Port (D) Main River

(E) Grassland In North America



N

o —

Y.sh. 151.

gfic it faemeff fom et & wmfas siea fav v & S50

M R S99 yfifg fAeivaet & e—ua o foet | ,f\
Visually impaired students will write 1-1 point of speciality of those

places in the map-making questions.

faeg & woHifoe Wer aEfaa § guiv v fa=fafag

fd=gall &1 ugAlfiY o1 S99 M JUNl Sax YRasr A

forfery |

(A) SR 3MR®T &1 yda g o

(B) t® AR

(C) '@ yqW 98

(D) T IaRIT &aTg IS

(E) <m ArzaRad IRl &1 9| eI

In the given political outline map of the world, identify the following
points and write their names in your answer copy:-

(A) Mountain Range In North America
(B) Megacity

(C) Major Sea Port

(D) International Airport

(E) The First Station Of The Trans-Siberian Railway

28



du: — gfc i@ faemeft 59 g1 A w=faE siea Ry g @ S9@
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9.5h. 152. 59T g-cd fod dad 8?2
What is population density called?
i h Y.sh. 153.2011 @ IJAR ARG DI SaAT fbadl &7? °

What is the population of India according to 2011?

9.h. 154.9Rd ¥ Ugell R SIFIUFT 9 g3 2

When was the first census conducted in India?

Y.sp. 155.94919 fb<dl ded 27

What is called migration?

U.sh. 156.9Rd  Udifdre SUdrg foa Wwg 4 giar 27

PN

y From which state is the maximum emigration in India?

Y.sp. 157.59dr9 fHd ded 27

What is emigration?

Y.sh. 158.319d19 fb<d dad 27

What is immigration?

U.b. 159.fpd v o yaiRmEal &) dwar gaffere 272 >y 4

Which state has the highest number of migrants?
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Y.sh.

160.9Rd ¥ faza &1 fea- gfaea wa@r o axdl 27

Y.h.

—
=

g
.

What percentage of the world's population resides in India?

161.9Rd o Haffere o N gRT diell W9 arell ST &is Y 27

Which language is spoken by most people in India?

9.5, 162. MR G@faegm= & feat awd sgyfaa 87

Y.b.

How many languages are scheduled in the Indian Constitution?

163.991 fhda YdR @ id 27 o

What are the types of migration?

Y.b.

164. IR $T Yol yard fod wedia 9 gam oar?

In which continent did India’s first migration take place?

Y.%h. 165.9RA &I SHEIT &I d-cd 9 2011 & JTHAR fha=m 27

What is the population density of India as of 2011?

9.%. 166.9-] 2011 &I SIRIVHT & IJITAR AR & [HE Ig H ST

H-cd 9qifered 27

According to the 2011 census, which state of India has the highest

population density?

Y. 16799 2011 @I SFFIVFI & IR ARd d (hd I59 DI

ST gaifere 2?

According to the 2011 census, which state of India has the largest

population?
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9.%h. 1689 fas™d gadid (2005) & Wed d fazg & ol # ¥R«

Y.h.

—
=

g
.

@ di- dl dife by 2f?

What was India's rank among the countries of the world in terms of

Human Development Index (2005)?

169.9Rd & fba wvg ¥ S arerdar ¥ e 22

In which state of India is the female literacy rate declined?

Y.b.

Y.b.

170.2011 &) SFIVFT & ATAR HRA ST T9EAT g-icd fha=1 27

What is the population density of India, according to 2011 Census? o

171.9%d ¥ faza 1 fea- yfaea saa@r e oxdl 27

What percentage of the world’s population lives in India?

Y.h.

Y.h.

172. ST @Y gfic | WRA &1 999 93T I S 491 272

Which is the largest state of India in terms of population?

173.9%d ¥ foaN yfoera s wral 9 e el 27

Y.%h. 174.9Rd 4 Afedl yard & o ScRerl Y4 SR &1 272

Y.sh.

What percentage of population in India lives in villages?

What is the main reason, responsible for female migration in India?

175.91d fasra Ruid &9 yH1Ra ovdar 27

Who publishes human development report?

176. 994 fa&T™ Yadie ¥ AR &1 I AT AT Swaad dife |

Y.sh.

27

Which state of India ranks highest in Human Development Index?
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9. 177.9999 & SHifearg aRemy & fafag | (e1g )

Write the demographic consequences of migration. (Any three)

9., 178.99 & WrAToIe gRemd &t fafae | (eig i)

Write the social consequences of migration. (Any three)
9. 179.9Rd H A4 fdera gaaie I Ared difg | (erg )

Write the social consequences of migration. (Any three)

U.sh. 180.91-1d fAd Il ATdeD 2?7 ATET BT |

Why is human development necessary? Explain.

9.%. 181.59ET gig & FEafa a1 @ 9 s faled |

Write three measures to control population growth.

U.sh. 182.9dT9 @& dIs oI dRYT forlRau |

Write any three reasons for migration.

Y.sh. 183.UTHIUT TR ST AXTAT bl TS DI |

Explain the rural urban population structure.

U.sh. 18450 gfg 4 & drud 2?7 9URd W ol gig @l
YTaRAT3Il BT qui< SIS |

What is meant by population growth? Describe the stages of

population growth in India.
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Y. 185.9Rd H RIS Y & dRUN &I fad=a=r sIfe |

Discuss the reasons for international migration to India.

Y.h. 186. WG YMRFAAT & IR 9dd & fag dl9—a1 4 ocsd

Scarar:fl 87

According to social scientists, which factors are responsible for

migration?
9. 187.9Rd § yad @& 3fefe uRemal &) arear S| (@1 3)

Explain the economic consequences of migration in India. (Any 3)

Y., 188.9dT @© YHTAl @1 fad==r S| (H1g 3)

Discuss the effects of migration. (Any 3)
9.%h. 189.9Rd & d=dl 4 ®ed faTgurd & &R da1s¢| (SIS 3)

Explain the reasons for the declining sex ratio among children in
India. (Any 3)

9.%. 190.9Rd # 9+ 2011 & ©ff WeRar &1 yfowra feaar 2?2 axa #
il R @ wenfae yreul $f G9snsy |

What is the percentage of female literacy in India in 2011? Explain

the local patterns of women's education in India.

U.h. 191.9Rd & fbl &= § SHGEIT BT YU-cd 3Afed 2 3N F=1?

In which region of India the population density is high and why?

U.sh. 192. 9G] fadyor 4o g9cd &l gHaifdd dxd dld dR®

HIT—HIT q B?

What are the factors affecting population distribution and density?
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Y.sh. 193. S-Sl 9-cd @& 3IMER U¥ URd &l fbdd WM A €ier ol

Aadr a7 fofRay |

‘i:‘-n.
.

Info how many parts India, can be divided on the basis of

population density? Write.

Y. 194.9Rd o T &9 4 TG 9994 e glar 2 s uer o

dIF ST YEgd DI |

There is more Urban migration from rural areas in India. Present 3

reasons in favor of this. °

Y.sh. 195.9Rd d Ydrd & foIy e IAJR yfdddd w»Red &9 gadR

Scaxerfl 8id 872 34 faarR wgad It |

What are the attractive and repelling factors responsible for

migration to India? Express your views.
U.5p. 196.3RISAII X RIS yard & o9 o9 =ax ferlRay |

Write three differences between interstate and international

migration.

Y.sh. 197. 3Nl ARd & 3AfeHie oAl ¥ #H-9 faerg <1 wax @ 9w

Sd © |? 98 ¥ 9 9o e |

Give three arguments in favor of why human development is found

to be at a low level in most of the states of Northern India.
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9. 198. ITHIVT <l 3R TR <l d FaR qarsv| (Hig 9)
Differentiate between rural settlement and urban settlement. (Any
three) °

9.5, 199.7[feBd Il IR g fevd st # ax qasy| (@15 &)

Y.sh.

Distinguish between clustered seitlement and semi clustered

settlement. (Any three)

200. frafora 9t fod wed 27 Serevvl Afed aHsIsv |

What is a planned settlement called? Explain with example.

9. 201. 9THIVT aft @ fagryard feaReae | (@1 =)

Write the characteristics of rural settiement. (Any three)

9.5, 202. T 9t ) fagivand fafae | (918 A9)

Y.sh.

Write the characteristics of urban settlement. (Any three)

203. BT & AR IR TR BT BT BT |

Y.sh.

Classify the city on the basis of functions.

204. IR TR & fabg HH B AHISU |

Explain the development sequence of Indian city.
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9.6, 205.4RTF TR f6d ded 282 SAPT T H1A BIdl 272

What is Garrison Cities called? What is their function?

Y.sh. 206.“HRA Widl &1 I =~ 39 ®oF & gfic ¥ aua @ uxqa
BT | ($15-3)

Present your arguments in support of this statement that India is a

country of villages. (Any 3)

Y.sh. 207."ARd @ 4l # ARMRe JRAEmen &1 e 27 39 far @
9 H A 9 db YEgd DI |

Present your 3 arguments in support of this statement that India is a

country of village?
Y.5h. 208. TR YIS &Id B, T2

Why are cities multifunctional?

9. 209.fa =1 T § fdp @ MR WX ARG TRI &l fHad @t
A dicr &1 9dar ¢ fafag |

Write into how many categories Indian cities can be divided on the

basis of development in different areas?
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9. 210.9RAI S & G9EEsi & AR 4 qui9 $ifsg | ($18 9T4)
Describe in detail the problems of Indian agriculture. (Any five)
$ 4 U.5h. 211.9RATI XTSI STeifa 2002 @1 999 fazivan] feafeg | o

- Write the main features of Indian National Water Policy 2002.
9.5h. 212.5TcTGHR Y9S- &l 9Hsnsy |
Explain watershed management.

9., 213.%0ll @ IR WRURET Gidl &1 9ui9 S| (s ufa)

Describe the non-conventional sources of energy. (Any five)

Y.%h. 214.3MGdl @ Aidl @ AR R Y & S-S 4§ PR 8Id 87
YD &I i BIY |

PN

4
>,
-;) What are the types of agriculture based on the sources of moisture?
Describe each.

9. 215. %3 @ AR R ARA N & YHRI ST qui4 DAY |
Describe the types of Indian agriculture on the basis of seasons.

9. 216.9Rd A W@dadl Yiitd @ yvad &Y fqe™ & dgayel Hfaar

BT quis Do |
=Y 4
% Describe the important policies of agricultural development in India s Dad
after independence.
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.. 217.8Ra wifad R ey ferlRayw |

e
=

iy
e

Write an essay on Green Revolution.

U.sh. 2189Rd H dAI9d JUdl W5, IdWied =q =1 gl W guib

DHIT—
(1) Srerary (2) ara|T
(3) ast (4) =1

(5) SUTE® &=

Describe on the following points for the production of rice or wheat

s 4 in India °

-—w (1) Climate (2) Temperature
(3) Rain (4) Soil
(5) Productive area

9.h. 219.9Rd H HUMNH IAAAl S WG =vq, =1 fagai &1 quiq

DIIY—
(1) Srerary (2) argH=
(3) ast (4) =1

(5) ScUTe® &=

Describe the following points for cotton or jute production in India.

:Q‘ (1) Climate (2) Temperature ‘

(3) Rain (4) Soil
(5) Productive area

Y.h. 220.9Rd A FHATS &) ATaeIHdT RT 2?7 U 5 SRBI DI AT
DI |

Why is irrigation needed in India? Explain the major 5 factors.

9.3h. 221991 S €IBU & IGe¥ &l AgaR AHMZY | (HIS 5)

Explain the point wise purpose of rain water harvesting. (Any 5)
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Y.h. 222 ARA & YHH PHIFl IcUIGd &l T faazor g |

Give details of the major coal producing areas of India.

9. 22390 TN fea @fiar &1 @81 oar 2?2 411 €RT WRa #A

hod

HEl—dal I SIdl 22 9disU |

Which mineral is called brown diamond? Where is the brown

diamond found in India? Tell me.

9.sh. 224 A ST U AIGH ST 2| AR @YY@ A SET

o<l & 9 gy |

Sugar industry is a seasonal industry. Name the major sugar

industrial centers of India.

Y.sh. 2257[WRId 3Menfred g9 @ fodl ufa favivaen &1 fafey |

Write any five characteristics of Gujarat industrial region.

226 3fexT e 87 HuE &9 &1 NAE R & 9oRIAD YHId

Y.h.

qsT?

What was the positive impact of Indira Gandhi Canal Command

Area on irrigation?

9.%h. 227 @] AT<_Iad d il o ST &1 fod guR grcars f&an

27 fad==m sifong |

Discuss how the Swadeshi movement has encouraged the cotton

textile industry?

9.%. 228 IUAINET &1 gfic 4 WRAT &Y Syl &1 Tffavor sifeg |

Classify Indian agricultural products from the point of view of utility.
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U.5h. 229 Rd A ¥—XIoikd fAUFT §RI1 AUAR T YU &1 i

Y.sh.

faaxer fifso |

Give a brief description of the land use adopted by the Land
Revenue Department in India.

230.5Tdl GATEFAT T 8T Gy g—<l 3R faqarel &1 o= qd 2 |

U SUYad Sarevll died GHSISU |

Depletion of water resources gives rise to social conflicts and
disputes. This explain with suitable examples.

Y.b.

Y.sh.

231.STd—G¥R Y9 a1 27 7 A9 Aigd 2 & I8 aaq qivefia
faera 4 ya Aeayul ST QT HIAl 87

What is watershed management? Do you think it plays an important
role in sustainable development?

2329Rd H o d9EEl d1 dH » fau Scxerfl feadl uf=

Y.h.

BRBI B ARAT BT |

Explain any five factors responsible for the shortage of water
resources in India.

233.9Rd D Wivol GAEEl BT 9o DY |

Y.sh.

Describe the mineral resources of India.

234 %511 & I3 Gl IURTURD Yid HII—dId G 82 AR Holl X

Y.sh.

feaofy forfRau |

What are any two non-conventional sources of energy? Write a
note on solar energy.

2359Rd d Sl @ Refa & ywifad o9 91 fesl ui4

BIRGBI BT I BT |

Describe any five factors affecting the condition of industries in

India.
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Y., 236.UTT—A™IT ST 4R fewofi folReu |

Write a note on petrochemical industry.

9.3p. 237300 el T8R HAF &3 9 Waad qivefig fde &1 9gran
I1 @ ford U™ saEy |

Suggest measures to promote sustainable development in Indira

Gandhi Canal Command area.

.. 238.five a3l @ faera & fau a1 wsfy afafad 3 v a3 @
o™ @& -9 4@ YIma fig 22

The National Committee formed for the development of backward
areas has recommended the development of hilly areas. What

suggestions have been given?

Y.h. 239.SUAT &I gflc 4 9Ra # M SuaT & &3 ufg aul &1
fdwaR gde quiq sifsg |

Describe in detail any five Categories of land use in India from the

point of view of use.
Y.h. 240 ARAT &Y wael &I fHad i § dfer 1@ 2?7 G9snsy |

Explain into how many categories Indian agricultural crops have

been divided?

U.h. 241.7IY Bl Ieg bl IRIANG ST | aRd § I g+dn
& I9uE faavur & fov Saxerfi A9 &Rel &1 SgrEvT
gfed wse HIfoe |

Define the term crop intensity and explain with examples of the 3
reason responsible for the uneven distribution of crop intensity in

India?
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Y.h. 242 9URd H 991 ol €I & oi9 fAffRl &1 W a’d gy o

JAUs & fo-el < o faRay |

Explaining three methods of rain water harvesting in India, write any

two benefits of water harvesting?

U.h. 243."'qadl SAHEAT qAT NSO §RI STl BT JLATIL IUANT

ARd d Wl Uil @ a9 @ fay Y@ w4 9
Scavardl 87 ¥Wee $IfY |

Indiscriminate use of water due to increasing population and
industrialization is mainly responsible for the degradation of water

quality in India, explain.

U.sh. 244 feaoft faRau —

(1)
(2)

(1)
(2)

yd<i &3 fAera srisH
gar ™l 83 faera sried

Write comment:-
Hill Area Development Program

Drought Prone Area Development Program.

43

AN

e
=




N

Y.h. 245.9Rd ¥ UR@sq el &1 9 4 y<¥fa &)d gu feal v &1

quisy SIS |

Describe any one with a chart showing the means of transport in

India.

246 Rd & 3T U4 fAafd ATUR & AT &1 9ui9 HIfoIg |

Y.sh.

Y.sh.

Describe the composition of India’s import and export trade.

247 9Rd ¥ UISY 13+ URdad &1 quid Iy |

Y.sh.

Describe the pipeline transport in India.

248 Rd ¥ UTSU o134 URded 4 o9 vq sifv &1 fad==r i |

Discuss the advantages and disadvantages of pipeline transport in

India.

U.sh. 249.9Rd @ e fadra & Asdl &1 YAHr &1 quia $ifeig vq

Y.sh.

Asd URdasT & o forfRgu |

Describe the role of roads in the economic development of India

and write the benefits of road transportation.

250.9Rd & fager aamar ifa &1 quiv difso |

Describe the foreign trade policy of India.
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Y. 251.URGed Yd HAR ARl @1 Aefear & TwRydes ws

N
DT | ;’)’ Y
Explain in detail the importance of transport and communication
service?
U.h. 252.9Rd @ I Yl &l a¥IdaT |1 <d 22 30+ faar fforg |
Give your views on why people of India prefer Railways?
U.sh. 253. &0 AgHG ASEN T 27 SHS! 9@ AR fagwarRi @1
quie dIforg | °

What is the Golden Quadrilateral, Highway? Describe its main four

characteristics.

254 MRd & SUYUE 9d9R WX Us fewofl forfRau |

Y.b.

Write a note an India’s Satellite Communication.
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Y.sh. 255afT gyguuT fod @ed &7

What is noise pollution called?

.. 256.00R1T & fagmerad w1 gl &1 19 T 272

What is the name of the largest slum in Asia?
9.h. 257.5Tcl YGHUT | J&Id: HIA—dI | AT Bid 272

Which diseases are mainly caused by water pollution?

9.%h. 258 {—I®xvT | 39 o1 |Hsd 272

What do you understand by land degradation?
9.%h. 2591 UGN ¥ SUH IRING faeR dia-—ia 49 87?
What are the physical disorders caused by noise pollution?
9., 260.9GHUT | FT dcud 8°
What is meant by pollution?
9.%. 261.8«ie d a9 A &1 yfea fea-m 272

What is the percentage of forest land in Chhattisgarh?

U.h. 262.8cITe § 999 3Afera @fer dal yram Srdr 27

Where is most of the mineral found in Chhattisgarh?
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9.3h. 263. DI AT @il YU ARd q ddd B«iaTe d fAear 272

Which mineral is found only in Chhattisgarh in entire India?

.. 264. B¢ A 9 3MTRd ST dI—did 4 27

Which is the forest based industries in Chhattisgarh?

U.5h. 265.8cdIITG Dl S DI HSIXT Rl dad 22

Why Chhattisgarh is called the rice bowl?
Y.5h. 2668l Te # Riag &1 9q@ A ar 27
What is the main means of irrigation in Chhattisgarh?
Y.5h. 267. 8l T¢ &1 Yo AT Yegfifem SeiT waf Rera 27
Where is the only aluminum industry of Chhattisgarh located?
Y.5h. 268.BE & YW E% A HIT—HIT A 872

What are the major Kharif crops of Chhattisgarh?

9. 2699 2011 & IJUR BTG DI SHGET fha-il 287
What is the population of Chhattisgarh as of 20117
9.%h. 270.9Y dedHTdR &I S $Bl W &7

Where is the birthplace of Prabhu Vallabhacharya?
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Y.h. 27191 95l fHd Hed 27 91 YGHUT & HIRUT Ud YHIG &bl §R
X o U fafeyg |

What is air pollution? Write measures to remove the causes and

effects of air pollution.

9.sh. 2729 —f=fidvor 4 w1 drcgd 2?7 39 fv Screrll 9@ dRol o

T 87?7

What is meant by land degradation? What are the main reasons

responsible for this?
9.%. 273 a0 B 9 o S SU daisy | (@IS 5)

Explain the measures to reduce land degradation. (Any 5)

9. 274 TRl ¥4 3uf¥te fueH weeh w9wm sgd faea wu o<y <
E 2| W By

The problem of waste disposal in cities is becoming very serious.

Explain.

9.%. 275.8«e 4 i ard yq@ @ ugreal &1 quia sty
(@1% 5)

Describe the main minerals found in Chhattisgarh. (Any 5)

Y.sh. 276.BINITG XIod & o9&l fdd¥vT Ud °9-cd &I 9ui-] DI |

Describe the population distribution and density of Chhattisgarh "f,ﬁ

state.
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Y.%h. 277. BTG WA H A8 gaven 81 sidl 9 &1 R« y414

gedr? fafRay|

If there was no irrigation system in the state of Chhattisgarh, what
would have been the impact on agriculture? Write.

278 %D BN B HIAT 98 R < dl AR Sildd R gHBI I

Y.h.

Y.sh.

YHTd ISIT?

If farmers stop doing agricultural work, what effect will it have on

our lives?

279 f¥ree ¥ wiic &1 dférag quis diforg |

Y.sh.

Briefly describe Bhilai Steel Plant.

280.8c e A <l 3P & Aol &l ddIsv |

Y.h.

State the distribution of iron ore in Chhattisgarh.

281. BN Te A dIdel ® fAdvvT &l 9dIs¢ |

State the distribution of coal in Chhattisgarh.

y.sh. 282 FT fawifral @ e aram g1t 9 YUY &1 SRS 2 | 91

YU &1 A8 YR U dlcl Y9G U9 SED AHAM & U™
ferRag?

Is the smoke coming out of chimneys a cause of air pollution? Write

the effects of air pollution on humans and measures to prevent it?

9.%. 283. @R wId wic & WSO & $RU &l 9did g¢ I8

e R fob firers Wd wiic 9 sallaile & I8 WX W)
Ugd™ Y 9 2 |

Explaining the reason for localization of Bhilai steel plant, it should
be made clear that Bhilai steel plant has given recognition to

Chhattisgarh at the national.
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AT B

Y.sh. 284.9Rd & ~oiHlfae dMer aEfkm & f=fafRad &1 gar

RISY Ud Habdl & 91 ddd dIfig—
(A) =T 96 (B) ®=8 &I A
(c) faeetl (D) fraffryt uda
(E) 9ra SWTe®H &4

In the given political outline map of India locate and label the
following with symbols:-

(A) Narmada River (B) Run of Kutch

(C) Delhi (D) Nilgiri Mountain

(E) Tea Production Area

3AdT

BI. @ IoHlfae WWeR AFfaa § guiv v feafafea
fegart &1 ug=ifiy dom Sqe AM Ul Ik gRaer A
ferfag |

(A) BTl D Y& GE—d ol

(B) ©I1. T 9IIT

(C) B. &1 Y= vgAEH e

(D) B.I. BT f¥Hen

(E) 1. d BRT SIS &

In the given political outline map of the C.G., identify the following
points and write their names in your answer copy:-

(A) Main Tributary of Mahanadi

(B) Prayag of C.G.

(C) The Major Aluminium Industry of C.G.

(D) Shimla of C.G.

(E) Diamond Production Area
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) du: — gfic 9t faemreff o= e 4 w@faE siea fay v 2 S50

@

WM W) I9a1 gl faeivani & to—va fag fadt |

Visually impaired students will write 1-1 point of speciality of those

places in the map-making questions.

9. 285.HRd & Yu-lfae AWeR aFfaa A fafafRea &1 gar
@Sy U9 Aodl & A1l oidal dIifeig:—
(A) ®b @I (B) &R &1 H®HIA
(C) R 31 wrel (D) BYCT AFTYR BT USKR
(E) 19 <1




N

In the given political outline map of India locate and label the

e
=

following with symbols:- ‘:;)' N
(A) Tropic of Cancer

(B) Thar Desert

(C) Gulf of Mannar

(D) Chota Nagpur Plateau

(E) Ganga River

341

B & vudifae dwmer aEfaa & qurit v fA=falaa o
fagal &1 uygaifiy qom S9e M AUl Sk gRaer d '
ferferg |

(A) g oHd IR %

(B) B.3. &I [T ST

(C) B &1 TSETh

(D) g7 (3Tc1IT) &T @lE D @M

(E) B.9. & dig 3P @

In the given political outline map of the C.G., identify the following
points and write their names in your answer copy:-

(A) Super Thermal Power Station

(B) Jute Mill of C.G.

(C) Capital of C.G.

(D) Iron Ore Mine of Durg (Balod)

(E) Iron Ore Mine of C.G.
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) dau: — 3R Tifta faemeff 9 et § w=fE sieq fag v & S99
() w@IF WR SAa yiify fasivaen @ te—ve g fore |

Visually impaired students will write 1-1 point of speciality of those

places in the map-making questions.

9. 286.HRd & u-lfae AWeR aFfaa A frafafRea &1 gar
@Sy U9 Aodl & A1l oidal dIifeig:—
(A) 3rTaelt gdd (8) %
(c) faemr shia (D) disdl 48
(E) Mawrela auf arar &=
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In the given political outline map of India locate and label the

e
=

following with symbols:- ‘:;)' N
(A) Aravalli Mountain

(B) Mumbai

(C) Chilka Lake

(D) Kandla Seaport

(E) Winter Rainfall Area

Jrerar

B & vudifae dwmer aEfaa & qurit v fA=falaa

fagal &1 uygaifiw qom S9e AW AUl Swk gRaer d o
ferferg |

(A) BI1. D ArgETi

(B) <ilE wTa ST

(C) BI1. &1 Uh HH<T HREMT

(D) B.I. BT HeAT ST

(E) el &1 S Whel

In the given political outline map of the C.G., identify the following
points and write their names in your answer copy:-

(A) Justice of C.G.

(B) Iron Steel Industry

(C) Cement Plant of C.G.

(D) Catechu Industry of C.G.

(E) Origin of Mahanadi

54



dAu: — gfic ot faemeff o= gyeat & wmfaa oiea faw v & S50
WM R 3901 gl faeivant & to—va fag fadt |

Visually impaired students will write 1-1 point of speciality of those

places in the map-making questions.







